Y plen 3059057 pU & el 3 TP o g 6

Wl / gy

S S mjlgs /¥ b,

VP /o A/YY 2903T G315 9 56 So-E (ibjgol (ale amwges Solas! BT iz, ol
023)l93 asly (5l asliamly S 1J)

(o) (3156 6) Caw y00 (&

(o) (@aks) Caw yoU (&I

(0303 +/Y8 3550 1)

Y—J¥

- Y - .
(o) (Ya slagles) o (< (o Ya slyls) — (K
i
(0305 +/YD 3y90 &)
. Yo  IFF . Y
siffa=v-cos'a=1-—=— = Sin0 = — (o 505 o/ 8)
1#4 \#A Y
. . w0 Yo
sinYou = Ysinocos o = Y(—)(—) = —— (o yai o/ Y0) ¥
%f/—‘ A ) R T
o yoi /YO
(lawgis) (Ya sboyles)
. Y+
s1nx=T=T 3l ol (o g5 o/ B)
G A= 15 =vh = 3 X = YKL= 2 (o y0i o/ 8)
— Y-8 o\ . - N g o e
(o i o/8) sinx=——=——=sin(—) =
f Y 5 v
X=Ykﬂ:+7(o)a3 O/A)
(tawgio) (Lo oY Slro)
. . \ ). \
o) —fsinxcosx=) = sinxcosx=—— = —sin¥x=—— =
— foy ¥
(a).o.: °/O)
(o).o.i o/&)
) b
YX=Ykn—— = X=Kn——(c,0i o/ 8)
. ) . —T 4 Y
sme=—;=s1n(—) = v v
T )
YX=YkT+— = X=KT+—(o,0i o/ )
(o y0i /) # \Y f

<) )—sin"x—sin" xcos¥x=) = sin' x+sin" xcostx=o =

(s yoi o/8) (5 y0d o/YD)
SinX=°(e),o.3 o/Y0) = X=k7t(e).o.3 o/ 8)
.
sin’ x(\+cosY¥Xx)=0 = Ykn w
~ CoSYX =—V(o 0 o/ Y8) = YX=YKI+T = X=—+—(o,05 o/8)
(0)4\.3 o/ YD) Y Y

m
COSX =o(o40i o/ YO) = kﬂ+;(c).n.3 o/ YD)

@) Yeos' x—cosx=o = cosx(Ycosx—Y)=o =
—_— —_—
(e).ui 0/0) (é)n.3 o/ &)

) T )
cosx=;=c0s;(eﬂ.s o/ YO) = x=Tk1ti;(¢,A; o/ Y0)

(5lg) (ko Y olro)

()lg0) ((Flkio Y olro)

(Lwgio) ((g5lilko Y olao)




Y plen 3059057 pU & el 3 TP o g 6
i b/ ye
Y ol LA Y
AP oY /o A/TY 29057 o155 9 29,6 So-E (ibjgol (ale amwges Solas! BT iz, ol
023)l93 asly (5l asliamly L)
Yo
T=—=o RN
g
A
Max = a|+c= A+ 1V =Y (o 5o o/ YD)
I
(e)».i o/ YD)
Min = —|a|+c=—A+1V =4(o 505 o/ Y8)
| —
(9)4.3 o/ YD)
(fwgio) (29Ls)
’g/xe,»s\)
;
! ; T
T X =—
XZ—? Y
(oyuiel¥e)  (025°IT0)
(fawsgie) (il 556 &)
rT=VT“—(%) = T=f1 = T=YT (o0 +/Y0)
T=2 = =2 = b=V = b=1) (o,0+/Y0)
bl b
(o 500 o/Y8) v
——
Max=|aj+c = f=|a|+c a=yY Jo—ub [EROP
. # i = c=1,jal=y = J ’Jfﬁf(a,&so/a)
Mm=—|a|+c = —T=—|a|+c —_— a=-Y Jo—sd J—l8
| S — (c).o.i 0/5)

(o)».i °/Yb)

(dwgio) (9ls)




